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oot a2 AeE 223X 1A
3,000,000& = 100 £ 30,000
401 AlEHIZL £ 0HY| 90,810 90,000 810
01 Al&H| 90,000 90,000 0
Ol 21 AL EXZ2A
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OBl 2% AL EAX2A
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Ooolgte oA Ms2l 2
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& 17,000
Al 282,620
222202 22| 214,620 202,157 12,463
301 LBt A= 214,620 202,157 12,463
08 2UZ2L2RIBAZ 214,420 201,957 12,463
OZ2AUZ2L A QIAHH(HEEX) 91,020
-32 117,0008 = 259 * 12& 35,100
— ZAlH| 6,000& * 25%Y * 21 * 12& 37,800
— st 2,400 * 252 x 212 x 128 15,120
— I =4 3,000
ol= 100,000 = 15% * 1= 1,500
s= 100,000 * 15 » 1= 1,500
O29222d oAHH|(AMIIEXNANE2Y) 113,400
— S AlH| 6,000& * 75% x 21 x 128 113,400
OMaleggd= 10,000,000& = {14l 10,000
11 J|EtE A2 200 200 0
OZ2A2RE FAnNs ZAIE
100,000 * 14! % 23| 200
XIS SHAN & AL X R(E) 85,000 85,000 0
& 17,000
Al 68,000
308 XHXIGHH SO0l & 35,000 35,000 0
& 7,000
Al 28,000
07 OlHI 2SS HdAKABAE X 35,000 35,000 0
oudlzZz=48X& 35,000,000& * 14! 35,000
== 7,000
Al 28,000
403 XX SHHMS X201 A 50,000 50,000 0
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M g Hel(STEMUOM /LS - ogs)
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= 10,000
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CCTV 2el 856,449 499,640 356,809
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101 @124l 529,200 400,000 129,200
04 JI12ZtHZ22HEE = 529,200 400,000 129,200
OJIZAHZEXS B=(A 12, WEFE 12/ A
SN 2 22X BPHE D)
22,050,000& * 24H 529,200
201 €24 259,749 99,640 160, 109
01 At 22l 5,600 3,800 1,800
Oz2HHE 29l 300,000& = 12& 3,600
O4LAa2 =&l 2,000
— =AM EU 200,000& = 23 = 104 400
— PC ==cltl 100,000& * 10CH * 13l 1,000
— JIEt =2l 50,000& = 12& 600
02 2324l 254,149 95,840 158,309
OCCTV S X E= 65,000
—2EE & ool s
400,000& = 119CH 47,600
— JIEt CCTv 200,000 = 87CH 17,400
OsldAIE= 112,600
—3ldS(HdE) 3,200,0008 * 13l& + 12€ 38,400
— g (BNE)
30,000& = 1203l& = 12& 43,200
—sldE (e /=S58 W)(2834)
31,000,000& * 14l 31,000
OFEANES(HI RS M)
90,000& = 14314 = 12& 15,120
O&IIANEZ 30,000
—&Jle=a(4dH) 1,000,000& * 12& 12,000
—HI2B(BAE)
25,000& = 60 + 123 18,000
FEAMNERZ 10,000& * 128 120
OZH AlAE 7 X2 31,309
—H/W(2tM MBI, GIS/Y MBf, OIHEAMY,
HEZHHAH, XtEHS oA HH, AEe
210,124,000& = 7/100 * 1.1 » 50% 8,090




SN EE I
HE: CCTV 2ol (LYBBTHH /L)
& CoTV 2tel (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
—HEXA EHH|I(L3 AKAXl, L3 POE, L2 A<
X, 20oAH])
68,688,000 = 7/100 * 1.1 % 50% 2,645
—gu/8%
318,403,000& = 7/100 * 1.1 * 50% 12,259
— 2 FY
16,490,000& * 7/100 = 1.1 * 50% 635
—S/W(ES2HM, ME=2HH, SS2H AKX
2, GIS) 7,680
116,361,000 = 12/100 * 1.1 * 50%
207 ) | 55,000 55,000
02 & A EHH| 55,000 55,000
OQIIGAAXE BSAIAE QI 55,000
—HAEEES S/W 55,000,000& * 14! 55,000
401 AlEHI 2 2 0HY| 12,500 12,500
01 Al&H| 12,500 12,500
O&I| AHSEIl &X 12,500
—HEI AXOIIE HAHH)
500,000 = 2504 & 12,500
HAMSHAY| (tM S A W) (JIEH/DIE) 104,675 104,675
ol 2AH | 35,659 35,659
oled 2A Y| 35,659 35,659
101 e1214| 35,659 35,659
03 2IHALZZHE = 35,659 35,659
OCCTVZHIH &I 2223 35,659
- Jl2s 1,199,790& = 18 x 12& 14,398
—Jlgag
1,199,790 = 100% * 1€ * 43| 4,800
= F-=lll
1,199,790& * 75% * 1&H x 23] 1,800
—JIEx=¢ 1,200
- B X 40,0008 « 1¥ 12& 480
282 20,000 * 1¥ 128 240
JNIE] 20,000 = 2™ 128 480
b LR
9,060& * 150% * 15AI2F = 1H 12€ 2,447
- pYIR4y
72,480 * 150% * 1¥ 50 5,436
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chel: ol 2y (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— dHZ A 100,000& = 14 * 128 1,200
— WEB XY 44 000& = 1Y = 12&€ 528
—SHAESHAY 200,000& * 1¥H * 12& 2,400
Jl2 &l 69,016 0 69,016
Jl2 &4l 69,016 0 69,016
201 et | 16,116 0 16,116
01 AP 22| d| 16,116 0 16,116
O=sAEXN 7 13,000& * 128fA = 12& 1,872
OEZoa gl 6,000& * 64l x 128 x 128 5,184
Ogbte3 100,000& = 12& 1,200
OARE T HFLH| 50,000 = 12&€ 600
OALRE =4H&H| 6,540
— Z2A| %2l 500,000& = 1CH 500
— Z2lH 2 100,000 * 4CH = 50/100 200
— E2AD EY 200,000& = 53] ~ 104 1,000
— T2l (&) E14 200,000& = 53 = 404 4,000
—PC £=¢J 100,000 = 1204 = 20/100 240
— J|EF==2l bl 50,000 = 12&€ 600
OJIEtAIRE EH| 5,0008 * 129 = 12& 720
202 044 48,000 0 48,000
01 2L I 48,000 0 48,000
Ootdsi M HR2FXHl b 48,000
— 2L o4 1 20,000 * 129 = 12 * 12& 34,560
— 22/ (4 4 80,000 * 12 » 14 13,440
203 2P EF | 3,000 0 3,000
04 EASHEYRFAH| 3,000 0 3,000
Oor™ s A 1t 3,000
—EASEHRFEH| 250,000& » 12€ 3,000
204 &R AH| 1,200 0 1,200
01 Mg HRESHAH| 1,200 0 1,200
OZXBIHR2LHAY| (M & H &)
100,000& = 12& 1,200
405 XHA&HF S HI 700 0 700
01 XML 2 FF S| 700 0 700
OHMIED] el 700,000& ~ 1CH 700




